1 "##x [ G SHEDDEN #4+

2 " ek, | TR

5 Teex BANK ACCOUNT VERSION 5 sk

10 OPENOUT " DUMNY"

20 MEFORY HIMEM-1

30 CLOsEoUT

50 POKE 45312,255:M00E |

50 LOCATE 8,12:PRINT"Is Prinfer on Line (Y/N)
*:GOSUB 100:TF 1$="Y" THEN pr=l

70 CLS:60T0 1000

100 1$=UFPERS (INKEYS)

110 TF o$O"Y" AND 1SCO"N" THEN 100

120 RETURN

197 REX #*++ Check for 5.0.5 ==

200 IF tem(x.1)7s THEN RETURN

210 IF fem(1.1)=0 OR tea (1,1)=99 THEN RETURN
200 b8 iplz),zi=tead (1,00 2s(p(2) 2)=ten (1,006
e 390

230 bipiz)sz)=temln 10 :bS(p(z),2)="5.0, "+en
${1,00+"8" temln, 1)=0

750 PEN 2t PRINT USING "##"sbip(z),z) 3 :PRINT

TRBI4) s LEFTS (B8 (pl2) 2}, LEN(bSTp(2), 2)) =103 TR
B(30)3:PEN 2+(1 AND sip(2),2)€0):FRINT USING

S H-";s(p(z) ) (REM ALL HASHES

260 plzi=plz)+1:RETURN

300 CLS E3:FPRINT 43, “Press any key to contin
ue"

310 WHILE INKEYS="":MEND:CLS 83:(15

320 PEN 2:RETURN

347 REM «++ CHECK FOR SPECIAL ENTRIES ¢

0 FOR w=l TO cf

350 IF bs(p(z),z)=ct$in) THEN spend(n)=spend(
ni#is(plz),2))

370 MEXT:RETURN

400 CLSH3!PRINT#E. " wket [NVALID ENTR
Y seeess™:G0SUB S001RETURN

420 CLSH3:PRINTES,®  s=ere ND DATA ENTERED

YET s ":G0SUB 500 RETURN

440 PEM 3:PRINTH#ch, TAB(20-LEN(g$)/2)3q%:FEN
2:PRINT#chsRETURN

450 CLSICLSH3SINPUT #3,"Which Manth (1-12)":q
t7z=q-1:0L583:IF 2240 OR 2211 THEN GOSUB 400
$E0T0 450

441 =gstart+(12 AND startig)

482 1F ©=3 THEM RETURN

455 IF plzi=1 AND z=0 THEN GOSUB 420:RETURN
250 CLE®3:RETURN

500 SOUND 1. 100550, 7+ S0UND 1500, 50 T:FOR. 1=1
T0 15002 NEXT:CLSES: RETURN

520 PRINT:FRINT:FOR n=0 TO L1:PRINT USING®
$4) ... A" N1 S PRINT mo$(n) SNEXT

521 [MPUTHS, "PLEASE ENTER OPENING MONTH No OF
A/C "sstartiPRINTES, so$ (stari-1)3:605UB 540
522 IF 18<)"Y" THEN 521

524 INPUTH3,"PLEASE ENTER YERR eg 1985 *,year
1LSH3

525 IF year/4=INT{year/4) THEN =29

526 INPUT #3,"PLEASE ENTER ACCOUNT NAME (MAX
B CHARS) "sname$iCLSH3

=28 files="!"+LEFT9(nane$.5]

=30 né=nane$+” "+n$:G0SUB 1050:ACK=ns+" - °
535 né=so$(start-1)+5TRS (year=1900)+" T) "4no
$(lstart=2)+(12 AMD start=1))+5TRS( (year-1%00
401 AND sfart>1)):GOSUR 10S0TRETURN

540 PRINTE3. "-Is this correct Y/N ":606UB 100
tCLSH3RETURN

S50 ch=0:PRINTE3. "Send Statement to Printer ¥
/N":G0SUB 1002 pre=1:CLSE3:IF 18="Y" THEN ch=8

580 RETURN

579 REM we» SORT #4+

500 CLSH3:PRINTHS. "Please wait a monent - Sor
ting Enlries"

£20 FOR =l TO piz)

£30 IF blnez) (=0 THEN bin.2)=99:b8(n,20=""151
2=l

A0 MEXT

£50 FOR aa=1 10 plz)

b&D 11=0

£70 FOR bb=0 TO plzi-aa

£20 TF bibbsz){=hbb+l, ) THEN 720

§30 fi=1

700 co=hibbel,2) sccs=be (bb+l.2) s dd=s (bb+ls )
TI0 bbb+l z)=bibb. 2} tbSibb+l.2)=bs (hb. 2) 2a(b
btlszl=sibb,z)

TH bibhez)=ccrb$ibh-z)=cc¥islbb, z)=dd

T30 KEXT

740 IF fi=0 THEN 760

70 NEXT

760 CLSH3:RETURN

897 REM #+ VALIDATE DATE

900 IF s)f AND zz=1 THEN GOSUB 400:er=1:RETIR
N

910 IF SY30 AND (rz=3 OR 2255 OR zz=8 OR z:=1
0) THEM GOSUE 400:zer=1tRETURN

920 IF 5731 OR s¢1 THEN GOSUB 400:er=1:RETURN
930 RETURN

959 REM wex INITIALISATION ok

1000 MOOE 1:RORDER 245INK 1,Z:INK 0,28 INK 2,
0zINE 3,6:1=22

1020 WINDOW 43, 1,40,24,25:WINDOW #1.1.40,1,2
1030 CLSIPEN #1, 11PEN 2:WINDOW 1,404,235

1080 r$="RANK ACCOUNT*:GOSUB 1050:60T0 1080
1050 PRINTEL, TAR(20-LEN(n$)/2) sné:RETURN

1080 DIM a${20+1)sm08(11),a{20, 1) 2a(0, 1)=79%:

pa=0

1070 TIM b8140, 110, b(605 1105180, LE}.p(11).Df
wd(12),c1§(18) ,=pend (18}

1130 RESTORE 1170

1140 FOR i=0 TO 11

1150 RERD mo®(id:pli)=1:b8{0; |)="Balance Forw
ard”

1150 NEXT

1145 b4100,0)="0pening Balance”




1170 DATR JANUARY, FEERLUIARY, MARCH, APRTL, MAY, JU
KE

1180 DATA JULY, AUSLIST, SEPTEMBER, OCTOBER, NOVEN
BER, [ECEMBER

1979 REM +=» MAIN MEMJ »+»

2000 CLSSCLSHI:PEN 2

2020 q="MAIN MENU":G0SUB 440

2030 PRINT" 1) DISPLAY BANK ACOCUNT":PRINT
2040 PRINT® 2) STANDING ORDERS":PRINT

2000 PRINT* 3) THPUT DATA":PRINT.

2060 PRINT® 4) EXAMINE/DELETE ENTRIES™:PRINT
2070 FRINT® S) RECONCILIATION MENU":PRINT
2080 PRINT® &) LOAD DATR FILE®:PRINT

2030 PRINT* 7) SAVE DATA FILE":PRINT

2100 PRINT® 8) SPECIAL EXPENDITURE MEMNU:PRI
NT

2110 PRINT* 90 INSTRUCTIONS™

2130 INPUT #3, "PLEASE ENTER SELECTION (1 to

T " u8:0L543

2140 =L (19)

2150 IF {1 OR x29 THEN GOSUB 400:GOTO 2000

2155 ch=0:0LS

2150 IF year=0 AND (r=2 OR =3 0R 1=8) THEN G

0stg 520

2170 N 1 EIHH m: lmm-rMIMrm
059000, 12000, 15000

2120 ch=0tpre=01PRINT CHR$(7)160T0 2000

2999 REN = DISPLAY STATEMENT »e

3000 er=0:(15:CLS#3: IF year=0 THEN GDSUB 420:
RETURN

3020 IF bwd(0)<30 THEN 3060

3030 INFUTES,"Please enter Dpening Balance "
bfwdi0) -

3040 BOSUB 540

3050 IF 1$3"Y" THEN PRINT CHRS(7):60T0 3030

30460 CLER3

3070 G0SUB 450:60SUB 620: IF er THEN 3000

3070 CLS:qS="STATEMENT for "+mo$(zz}45TRS(yea

r+(1 AND (z+start?11))):G0GIB 440

3100 CLSA3:PRINTHZ, " PLEASE WAIT A MOMENT WH

ILE PREVIQUS ENTRIES ARE CHECKED"

3110 FOR k=0 TO z:tot=bfwd(k)

3120 FOR 1=1 TO plk)

3130 tot=totes(1.k) INEXT

3140 bfudikel)=tot:NEXT20LSE3: tot=0

3150 PEN 2:PRINT TRB(4);b%(0,2); TAB(30); :PEN
2+¢(1 AND bfwd(2)<0):PRINT USING "HEeSSI.8-":
biwd (z) *REM "POUND,5 HASHES,DEC,2 HASHES -"
3140 PRINT STRINGS(37,"="

3170 tot=bfed(z)

3180 FOR n=1 TO pl2)

3190 tot=tot4sin,z)

3200 1=LEN(bS{n,2))-121F 1018 THEN 1=18

3210 IF bin,z)(32 THEN PEN 2¢ PRINT USING "8
"shine2); tPRINT TAB(A);LEFTS (bS(ns2), 1) TAB(2
2135PEN 2401 AND sin,2)CODEPRINT USING "HEdis
JH8-"35(n,2) 3 2PRINT TAB(31)3: PEN 2¢(1 AND to
€001 :PRINT USING “B8880.83-"; tot:PEN Z2:REN AL

L HASHES

3220 TF n MOD 16=0 THEN GOSUB 300:PRINT g$+"
cont®:PRINT TAB(31}3:PEN 2+(1 AND 1o1<0):PRIN

T USING "Re&4.#8-"; tot:REN 15t ilem is pound

3230 NEXT

3240 blwd(z+l)=fol

3250 PEN 2:PRINT;TAR(3L) ;STRINGS (8, "=") : PRINT
TAB(12) ; "BALANCE FORWARD = "5:PEN 2+(1 AND ¢
ot CO)sPRINT USING "#84888.H-"; tolt tol=0:REN
Ist iten is pound

3260 IF pr=0 THEN GOSUB 300

3270 IF pr THEN 60SUB 550:1F ch=B THEN &0SUB
3500

3280 ch=0:CLSA3:PRINTE3, "Dieplay Statemsent fo
r another month Y/N"160SUB 100:CLSE3

290 IF w%="Y" THEN 3040

3300 IF z=11 THEN CLSE3:PRINTA3, "This is the
fastmunth of your year. Flease note final
balance of *;:PRINTE3,USING "#8#853.58" ;b fud(]
2VF0R p=1 TO SOO0:NEXT:FEM 1st item is pound
310 RETIRN

3499 REM s PRINT STATEMENT =

500 PRINTES. TAB(I7- ((LEN(acs)+LEN(gE)) /2)) 52
ckigb

3540 PRINTES, TRB(46) 1b8(052) 1 sPRINTHS, TRB (446}
SUSING "SERERE.E6-";bfwd(2):REM 151 item 15D
ound

I550 PRINTES, STRINGS (75, ="}

560 PRINTH3, TRB(47);"RECEIPTS PAYMENTS B
RLANCE"

570 tot=bfud(z}

T5E0 FOR n=1 TO pl2)

590 toi=tot4sin.2)

3500 IF bin,z)¢32 THEN PRINT#3.USING "&8";b(n
+2) 5 IPRINTSE2. TRB(S);LEFTS(bS(n.2) LENIbS(n. 2
H=1)sTABC[88) 410 AND s(n.2)¢0)) sPRINTAS, USI
NS "BIEEE.H-"15(n.2); SPRINTES. TAB(4T] ;USING
"RRERA.A0="; 1ot:REM all hashes

3510 NEXT

3420 PRINTED. TRBILT) sSTRINGS (3, "="

Z530 PRINTH3. TAB(S0); "Balance Forward™s:PRINT
§2: TRBAG) sUSING "RWSHAA.BR-";biwdizt1)iREN |
st ilem is pound

3435 FOR n=l TO 2:PRINTRSINEXT

3580 RETURN

3997 FEM v+ RECIMCILIATION =

4000 gb="RECONCTLIATION MENU":GOSUB 440:PRINT
{PRINT

4020 PRINT" 1] RECONCILE WITH GAN STATEMENT"
:PRINT

4030 PRINT™ Z) DISPLAY ITEMS MOT YET CLERRED"
tPRINT

4040 PRINT® 3} DISPLAY CLEARED ITEMS®:PRINT
4050 PRINT" &) RETURN TO MAIN HENU"

40840 INPUT §3,"PLEASE EWTER SELECTION (1 to 4
(R ekt ke bt

070 =Wl (%)

4090 IF 141 OR x4 THEN GOSUB 400:60T0 4080
85530 IF r=4 THEN RETURN

100 04 1 6DEB 4500.5000, 5000

4110 ch=0:60TD 4000

4497 REN +=++ RECONCILE #++

5500 G0SUB 450

4520 of="RECONCILIATION FOR “+no$(zz)

AS30 BOSUB 450

4540 FOR n=1 TO plz)

5550 1=LEN(béIn-z))-1:1F 1)16 THEN 1=18

4550 TF bin»z}432 AND RIGHTS(b&(n,z). 1)="8" T
HEN PEN 2: FRINT USING "BR®:bin.z)z:PRINT TAE
(4) sLEFTS (b%${n.2),1)3 TRB(23); :PEN 2¢(1 AND si
n: 2 {0} APRINT USING "#E8ES . 88-":5(n,2)3ELSE 4
b20:REM all hashes

4570 PRINTE3: "Has this enlry been cleared (Y/
N)"2G05UB 100

BS80 b=LEN(bS(n.z))=1:PEN 2

550 IF t%="Y" THEN bS{n,z)=LEFT$(b%(n.z):bi+
"$":PRINT TAB(33);"Clear”

4400 IF 18="N" THEN FRINT TAB(33);"Mo! Cir"
4510 CLSH3

4520 NEXT

4530 CLS:CLSESLRETIRN

43799 FEM s+ DISPLAY RECONCILIATION we=

5000 GOSE 4&0

N IF =2 [HEN qi="IMCLEwrED TTEHS FUR ‘=m0

$(2z

030 IF 1=3 THEN g3="CLEARED ITEMS FOR "+mo$!|

zz}

040 &05UE 240

5050 k=1irec=0

S0&0 FOR n=1 TO piz)

5070 1=LEM(b81n,z))-111F 1318 THEM I=18

9020 IF =2 THEM IF RIGHTS (bS(n.z).11="8" THE

N 60t 5500 BLSE S130

90 IF 1=3 THEN IF RIGHTS (BS(n.z). 10(3"9" TH

BN GOSUE 5590 ELSE 5130

S100 I=h#l

5110 IF ch=8 THEN 5130

9120 IF & MCD 17=0 THEN BOSUB 300:GOZIE 440

S130 NEXT

5140 GOSLD F540¢PEN 2

5150 IF ch=8 AND prc=l THEN 5190

S180 IF pr=0 THEN GOSUB 30036070 S190

S170 PER 2:IF ch=0 AND pro=0 THEN GOSUB 360 E

L&E 51%0

5120 IF ch=8 THEN 5020

9190 rec=0tprc=0:k=0: CLSIRETURN

500 IF bin.z){32 THEN PEN 2t PRINT BchaUSINE
M5 (nez) 3 *PRINT Bch. TRB A sLEFTS(b% (nez)s
1} TABAZ0) : tPEN 2401 AND sin,ziC0)tPRINTEcH,

LSTNG "#Reds . #8-";5{n, 2)sREN a1l hashes

52 recsrectsinez)

5930 RETLRN

5540 PEN Z:PRINTHEch.TAB (301 :STRINGS (8, "=")
5550 PRINTRch, TRABA24);"Total®s

5560 PRINTHch, TRAB(30):2PEN 3+(] AND reccd):P

RINTHch.LSING "ERBRE.B-"srectREM all haches

5570 PRINTEch, TRBY30):STRINGS(S,"=")

5580 RETURN

5799 REN +=+= EXAMINE/TELETE [TENS mee

5000 BOSUE 450

§020 q¥="EXAMIME/DELETE ITEMS FOR "4mo$ (zz)

£030 G0SUB 440

£040 q¥="COMMANDS AVAILABLE":G00UD 449

6050 LOCATE 1.10

&060 PEN 11PRINT"ENTER";2PEN 2:PRINT™ Far Nex
1 Eniry":FRINT

EO70 PEN 1 PRINT™ '@'“;:FEN 2tPRINT"
wi t"sPRINT :

4080 PEN L:PRINT® °D""3;<PEN 2:PRINT" To Delel
e Enlry

£0%0 LOCATE 1, 20¢PRINT*DATE DETRILS";TAR(ZE);
"RMOUNT“1FEN 2

5100 FOR n=1 TO plz}

6110 1=LEN(bS(n.2))-1t1F 1325 THEN 1=25

B120 CLSES

6130 IF bin,z) 31 THEN q¥="0":R0TO 62

140 PRINT®ZUSING "E3%shin, 205 tPRINTHS, TRB(4
VsLEFT$(b$ nez) 1) s TRBIZ2) 5 sFRINTES USING "B

BE-"sinez)

A150 gs="":T"PUT §3,"Please Select "ENTER’, @
or D "igd

E140 g=UPPERS(g5)

4180 WHILE g8="D"

&1%0 FOR j=n TO piz)

8200 bljszi=bij#laz)ihs(jaz)=b8 i+l 2dia(]2)

=5{j*l;z)

6210 NEXT

6220 plzl=pl(z)-1igs="0"

G230 WEND

To B



